

Advanced Studies in Theoretical Physics
Vol. 9, 2015, no. 4, 199 - 211
HIKARI Ltd, www.m-hikari.com
<http://dx.doi.org/10.12988/astp.2015.5118>

On the Twisted Modified q -Daehee Numbers and Polynomials

Dongkyu Lim

Department of Mathematics
Kyungpook National University, Daegu 702-701, S. Korea

Copyright © 2015 Dongkyu Lim. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract

The p -adic q -integral(or q -Volkenborn integration) was defined by Kim(see [9,10]). From p -adic q -integrals' equations, we can derive various q -extension of Bernoulli numbers and polynomials(see [1-21]). In [4], D.S.Kim and T.Kim have studied Daehee numbers and polynomials and their applications. For the twisted Daehee numbers and polynomials are investigate in [17]. In [11], Kim-Lee-Mansour-Seo introduced the q -analogue of Daehee numbers and polynomials which are called q -Daehee numbers and polynomials. In [16], Park investigated twisted version of Daehee polynomials as numbers with q -parameter, which related with usual Bernoulli numbers and polynomials. Lim considered in [13], the modified q -Daehee numbers and polynomials which are different from the q -Daehee numbers and polynomials of Kim-Lee-Mansour-Seo. For the twisted version of Daehee polynomials, In this paper, we give some useful properties and identities of twisted modified q -Daehee numbers and polynomials related with twisted q -Bernoulli numbers and polynomials.

Mathematics Subject Classification: 11B68, 11S40, 11S80

Keywords: Bernoulli polynomial, Modified q -Daehee polynomial, p -adic q -integral

1 Introduction

Let p be a fixed prime number. Throughout this paper, \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p will respectively denote the ring of p -adic rational integers, the field of p -adic rational numbers and the completion of algebraic closure of \mathbb{Q}_p . The p -adic norm is defined $|p|_p = \frac{1}{p}$.

When one talks of q -extension, q is variously considered as an indeterminate, a complex $q \in \mathbb{C}$, or p -adic number $q \in \mathbb{C}_p$. If $q \in \mathbb{C}$, one normally assumes that $|q| < 1$. If $q \in \mathbb{C}_p$, then we assume that $|q - 1|_p < p^{-\frac{1}{p-1}}$ so that $q^x = \exp(x \log q)$ for each $x \in \mathbb{Z}_p$. Throughout this paper, we use the notation:

$$[x]_q = \frac{1 - q^x}{1 - q}.$$

Note that $\lim_{q \rightarrow 1} [x]_q = x$ for each $x \in \mathbb{Z}_p$.

Let $UD(\mathbb{Z}_p)$ be the space of uniformly differentiable function on \mathbb{Z}_p . For $f \in UD(\mathbb{Z}_p)$, the p -adic q -integral on \mathbb{Z}_p is defined by Kim as follows:

$$I_q(f) = \int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N-1} f(x) q^x \quad (\text{see [9, 10]}). \quad (1)$$

As is well known, the *Stirling number of the first kind* is defined by

$$x_{(n)} = x(x-1) \cdots (x-n+1) = \sum_{l=0}^n S_1(n, l) x^l, \quad (2)$$

and the *Stirling number of the first kind* is given by the generating function to be

$$(e^t - 1)^m = m! \sum_{l=m}^{\infty} S_2(l, m) \frac{t^l}{l!} \quad (\text{see [8]}). \quad (3)$$

Unsigned Stirling numbers of the first kind are given by

$$x^{\overline{n}} = x(x+1) \cdots (x+n-1) = \sum_{l=0}^n |S_1(n, l)| x^l. \quad (4)$$

Note that if we place x to $-x$ in (2), then

$$\begin{aligned} (-x)_{(n)} &= (-1)^n x^{\overline{n}} = \sum_{l=0}^n S_1(n, l) (-1)^l x^l \\ &= (-1)^n \sum_{l=0}^n |S_1(n, l)| x^l. \end{aligned} \quad (5)$$

Hence, $S_1(n, l) = |S_1(n, l)|(-1)^{n-l}$.

Using integration (1), the q -Daehee polynomials $D_{n,q}(x)$ are defined and studied by Kim et al.(see [11]), the generating function to be

$$\frac{1 - q + \frac{1-q}{\log q} \log(1+t)}{1 - q - qt} (1+t)^x = \sum_{n=0}^{\infty} D_{n,q}(x) \frac{t^n}{n!}. \tag{6}$$

And the modified q -Daehee polynomials are defined and studied by the author. The generating function to be

$$\frac{q-1}{\log q} \frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x|q) \frac{t^n}{n!} \quad (\text{see [13]}). \tag{7}$$

From (1), we have the following integral identity.

$$qI_q(f_1) - I_q(f) = \frac{q-1}{\log q} f'(0) + (q-1)f(0), \tag{8}$$

where $f_1(x) = f(x+1)$ and $f'(x) = \frac{d}{dx} f(x)$.

In special case, we apply $f(x) = e^{tx}$ on (8), we have the modified q -Bernoulli number $B_n(q)$ as follows:

$$\int_{\mathbb{Z}_p} q^{-x} e^{xt} d\mu_q(x) = \frac{q-1}{\log q} \frac{t}{e^t - 1} = \sum_{n=0}^{\infty} B_n(q) \frac{t^n}{n!} \quad (\text{see [13]}). \tag{9}$$

Indeed if $q \rightarrow 1$, we have $\lim_{q \rightarrow 1} B_n(q) = B_n$. The n th modified q -Bernoulli polynomials and the generating function to be

$$\frac{q-1}{\log q} \frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x|q) \frac{t^n}{n!}. \tag{10}$$

When $x = 0$, $B_n(0|q) = B_n(q)$ are the n th q -Bernoulli numbers(see [13]).

From (8) and (10), we have

$$B_n(x|q) = \int_{\mathbb{Z}_p} q^{-y} (x+y)^n d\mu_q(y).$$

and

$$B_n(x|q) = \sum_{l=0}^n \binom{n}{l} B_l(q) x^{n-l}.$$

We define the twisted modified q -Bernoulli numbers by the generating function as follows:

$$\sum_{n=0}^{\infty} B_{n,\xi}(x) \frac{t^n}{n!} = \frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1}, \tag{11}$$

where $|t|_p \leq p^{-\frac{1}{p-1}}$.

If we apply $f(x) = q^{-x}e^{\xi tx}$ in (8), we have

$$\int_{\mathbb{Z}_p} q^{-x} e^{\xi tx} d\mu_q(x) = \sum_{n=0}^{\infty} B_{n,\xi}(q) \frac{t^n}{n!}. \tag{12}$$

The n th twisted modified q -Bernoulli polynomials $B_{n,\xi}(x|q)$ are given by,

$$B_{n,\xi}(x|q) = \int_{\mathbb{Z}_p} q^{-x} \xi^n x^n d\mu_q(x) = \frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1} e^{xt}. \tag{13}$$

The generating function of Daehee polynomials are introduced by Kim as follows:

$$\sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!} = \frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} \int_{\mathbb{Z}_p} (x+y)_n d\mu_0(x) \quad (\text{see [11]}). \tag{14}$$

When $x = 0$, $D_n(0) = D_n$ are called the Daehee numbers.

For $n \in \mathbb{N}$, let T_p be the p -adic locally constant space defined by

$$T_p = \bigcup_{n \geq 1} C_{p^n} = \lim_{n \rightarrow \infty} C_{p^n},$$

where $C_{p^n} = \{\omega | \omega^{p^n} = 1\}$ is the cyclic group of order p^n .

We assume that q is an indeterminate in \mathbb{C}_p with $|1 - q|_p < p^{-\frac{1}{p-1}}$. Then we define the q -analog of a falling factorial sequence as follows:

$$(x)_{n,q} = x(x - q)(x - 2q) \cdots (x - (n - 1)q) \quad (n \geq 1), \quad (x)_{0,1} = 1.$$

Note that

$$\lim_{q \rightarrow 1} (x)_{n,q} = (x)_n = \sum_{l=0}^n S_1(n, l) x^l.$$

From the view point of a generalization of the midified q -Daehee polynomials, we consider the twisted modified q -Daehee polynomials defined to be

$$\sum_{n=0}^{\infty} D_{n,\xi}(x|q) \frac{t^n}{n!} = (1 + q\xi t)^{\frac{x}{q}} \frac{q-1}{q \log q} \frac{\log(1 + q\xi t)}{(1 + q\xi t)^{\frac{1}{q}} - 1},$$

where $t, q \in \mathbb{C}_p$ with $|t|_p \leq |q|_p p^{-\frac{1}{p-1}}$ and $\xi \in T_p$

The p -adic q -integral(or q -Volkenborn integration) was defined by Kim(see [9,10]). From p -adic q -integrals' equations, we can derive various q -extension of Bernoulli numbers and polynomials(see [1-21]). In [4], D.S.Kim and T.Kim have studied Daehee numbers and polynomials and their applications. For the twisted

Daehee numbers and polynomials are investigate in [17]. In [11], Kim-Lee-Mansour-Seo introduced the q -analogue of Daehee numbers and polynomials which are called q -Daehee numbers and polynomials. In [16], Park investigated twisted version of Daehee polynomials as numbers with q -parameter, which related with usual Bernoulli numbers and polynomials. Lim considered in [13], the modified q -Daehee numbers and polynomials which are different from the q -Daehee numbers and polynomials of Kim-Lee-Mansour-Seo. For the twisted version of Daehee polynomials, In this paper, we give some useful properties and identities of twisted modified q -Daehee numbers and polynomials related with twisted q -Bernoulli numbers and polynomials.

2 Witt-type formula for the n th twisted modified q -Daehee polynomials

Let us now consider the p -adic q -integral representation as follows:

$$\xi^n \int_{\mathbb{Z}_p} q^{-y}(x+y)_{n,q} d\mu_q(y) \quad (n \in \mathbb{Z}_+ = \mathbb{N} \cup \{0\}, \quad \xi \in T_p). \quad (15)$$

From (15), we have

$$\begin{aligned} \sum_{n=0}^{\infty} \left(\xi^n \int_{\mathbb{Z}_p} q^{-y}(x+y)_{n,q} d\mu_q(y) \right) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \left(\frac{x+y}{q} \right)_n d\mu_q(y) \frac{t^n}{n!} \\ &= \int_{\mathbb{Z}_p} q^{-y} (1 + q\xi t)^{\frac{x+y}{q}} d\mu_q(y), \end{aligned} \quad (16)$$

where $t \in \mathbb{C}_p$ with $|t|_p < |q|_p p^{-\frac{1}{p-1}}$.

For $|t|_p < |q|_p p^{-\frac{1}{p-1}}$, we apply $f(y) = q^{-y} (1 + q\xi t)^{\frac{x+y}{q}}$ in (1).

By (8), we have

$$\begin{aligned} \int_{\mathbb{Z}_p} q^{-y} (1 + q\xi t)^{\frac{x+y}{q}} d\mu_q(y) &= (1 + q\xi t)^{\frac{x}{q}} \frac{q-1}{q \log q} \frac{\log(1 + q\xi t)}{(1 + q\xi t)^{\frac{1}{q}} - 1} \\ &= \sum_{n=0}^{\infty} D_{n,\xi}(x|q) \frac{t^n}{n!}. \end{aligned} \quad (17)$$

By (16) and (17), we obtain the following theorem, which may be called Witt-type formula for the twisted modified q -Daehee polynomials.

Theorem 2.1 *For $n \geq 0$, we have*

$$D_{n,\xi}(x|q) = \xi^n \int_{\mathbb{Z}_p} q^{-y}(x+y)_{n,q} d\mu_q(y).$$

In (17), by replacing t by $\frac{1}{\xi q}(e^{\xi qt} - 1)$, we have

$$\sum_{n=0}^{\infty} D_{n,\xi}(x|q) \frac{1}{\xi^n q^n} \frac{(e^{\xi qt} - 1)^n}{n!} = \frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1} e^{\xi xt} = \sum_{n=0}^{\infty} B_{n,\xi}(x|q) \frac{t^n}{n!}. \tag{18}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{D_{n,\xi}(x|q)}{\xi^n q^n} \frac{1}{n!} (e^{\xi qt} - 1)^n &= \sum_{n=0}^{\infty} \frac{D_{n,\xi}(x|q)}{\xi^n q^n} \sum_{m=n}^{\infty} \xi^m q^m S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \sum_{n=0}^m \frac{D_{n,\xi}(x|q)}{\xi^n q^n} \xi^m q^m S_2(m, n) \frac{t^m}{m!}. \end{aligned} \tag{19}$$

By (18) and (19), we obtain the following corollary.

Corollary 2.2 *For $n \geq 0$, we have*

$$B_{n,\xi}(x|q) = \sum_{m=0}^n D_{m,\xi}(x|q) \xi^{n-m} q^{n-m} S_2(n, m).$$

By Theorem 2.1,

$$\begin{aligned} D_{n,\xi}(x|q) &= \xi^n \int_{\mathbb{Z}_p} q^{-y} (x+y)_{n,q} d\mu_q(y) \\ &= \xi^n q^n \sum_{l=0}^n \frac{1}{q^l} S_1(n, l) \int_{\mathbb{Z}_p} q^{-y} (x+y)^l d\mu_q(y). \end{aligned} \tag{20}$$

By (20), we obtain the following corollary.

Corollary 2.3 *For $n \geq 0$, we have*

$$D_{n,\xi}(x|q) = \sum_{l=0}^n \xi^{n-l} q^{n-l} S_1(n, l) B_{l,\xi}(x|q) = \sum_{l=0}^n \xi^{n-l} |S_1(n, l)| (-q)^{n-l} B_{l,\xi}(x|q).$$

From now on, we consider twisted modified q -Daehee polynomials of order $k \in \mathbb{N}$. Twisted modified q -Daehee polynomials of order $k \in \mathbb{N}$ are defined by the multivariate p -adic q -integral on \mathbb{Z}_p :

$$D_{n,\xi}^{(k)}(x|q) = \xi^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (x_1 + \cdots + x_k + x)_{n,q} d\mu_q(x_1) \cdots d\mu_q(x_k), \tag{21}$$

where n is a nonnegative integer and $k \in \mathbb{N}$. In the special case, $x = 0$, $D_{n,\xi}^{(k)}(q) = D_{n,\xi}^{(k)}(0|q)$ are called the twisted modified q -Daehee numbers of order k .

From (21), we can derive the generating function of $D_{n,\xi}^{(k)}(x|q)$ as follows:

$$\begin{aligned}
 & \sum_{n=0}^{\infty} D_{n,\xi}^{(k)}(x|q) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \xi^n q^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} \binom{x_1+\cdots+x_k+x}{n} d\mu_q(x_1) \cdots d\mu_q(x_k) t^n \\
 &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (1+q\xi t)^{\frac{x_1+\cdots+x_k+x}{q}} d\mu_q(x_1) \cdots d\mu_q(x_k) \\
 &= (1+q\xi t)^{\frac{x}{q}} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (1+q\xi t)^{\frac{x_1+\cdots+x_k}{q}} d\mu_q(x_1) \cdots d\mu_q(x_k) \\
 &= (1+q\xi t)^{\frac{x}{q}} \left(\frac{q-1}{q \log q} \frac{\log(1+q\xi t)}{(1+q\xi t)^{\frac{1}{q}} - 1} \right)^k.
 \end{aligned} \tag{22}$$

Note that, by (22),

$$\begin{aligned}
 D_{n,\xi}^{(k)}(x|q) &= \xi^n q^n \sum_{m=0}^n \frac{S_1(n,m)}{q^m} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (x_1+\cdots+x_k+x)^m \\
 &\quad \times d\mu_q(x_1) \cdots d\mu_q(x_k).
 \end{aligned} \tag{23}$$

Since

$$\begin{aligned}
 & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \xi^n q^{-(x_1+\cdots+x_k)} e^{(x_1+\cdots+x_k+x)t} d\mu_q(x_1) \cdots d\mu_q(x_k) \\
 &= \left(\frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1} \right)^k e^{xt} \\
 &= \sum_{n=0}^{\infty} B_{n,\xi}^{(k)}(x|q) \frac{t^n}{n!},
 \end{aligned}$$

we can derive easily

$$B_{n,\xi}^{(k)}(x|q) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \xi^n q^{-(x_1+\cdots+x_k)} (x_1+\cdots+x_k+x)^n d\mu_q(x_1) \cdots d\mu_q(x_k). \tag{24}$$

Thus, by (23) and (24), we have

$$\begin{aligned}
 D_{n,\xi}^{(k)}(x|q) &= q^n \sum_{m=0}^n \xi^{n-m} \frac{S_1(n,m)}{q^m} B_{m,\xi}^{(k)}(x|q) \\
 &= \sum_{m=0}^n q^{n-m} \xi^{n-m} S_1(n,m) B_m^{(k)}(x|q) \\
 &= \sum_{m=0}^n \xi^{n-m} |S_1(n,m)| (-q)^{n-m} B_m^{(k)}(x|q).
 \end{aligned} \tag{25}$$

In (22), by replacing t by $\frac{1}{q\xi}(e^{\xi qt} - 1)$, we get

$$\sum_{n=0}^{\infty} D_{n,\xi}^{(k)}(x|q) \frac{(e^{\xi qt} - 1)^n}{\xi^n q^n n!} = e^{\xi tx} \left(\frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1} \right)^k = \sum_{n=0}^{\infty} B_{n,\xi}^{(k)}(x|q) \frac{t^n}{n!}. \tag{26}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{D_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} \frac{1}{n!} (e^{\xi qt} - 1)^n &= \sum_{n=0}^{\infty} \frac{D_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} \sum_{m=n}^{\infty} \xi^m q^m S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\xi^m q^m \sum_{n=0}^m \frac{D_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \tag{27}$$

By (25),(26) and (27), we obtain the following theorem.

Theorem 2.4 For $n \geq 0$ and $k \in \mathbb{N}$, we have

$$\begin{aligned} D_{n,\xi}^{(k)}(x|q) &= \sum_{m=0}^n q^{n-m} \xi^{n-m} S_1(n, m) B_m^{(k)}(x|q) \\ &= \sum_{m=0}^n \xi^{n-m} |S_1(n, m)| (-q)^{n-m} B_m^{(k)}(x|q). \end{aligned}$$

Now, we consider the twisted modified q -Daehee polynomials of the second kind as follows:

$$\widehat{D}_{n,\xi}(x|q) = \xi^n \int_{\mathbb{Z}_p} q^{-y} (-y+x)_{n,q} d\mu_q(y) \quad (n \geq 0). \tag{28}$$

In the special case $x = 0$, $\widehat{D}_{n,\xi}(q) = \widehat{D}_{n,\xi}(0|q)$ are the called the twisted modified q -Daehee numbers of the second kind.

By (28), we have

$$\widehat{D}_{n,\xi}(x|q) = \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \left(\frac{-y+x}{q} \right)_n d\mu_q(y), \tag{29}$$

and so we can derive the generating function of $\widehat{D}_{n,\xi}(x|q)$ by (8) as follows:

$$\begin{aligned} \sum_{n=0}^{\infty} \widehat{D}_{n,\xi}(x|q) \frac{t^n}{n!} &= \sum_{n=0}^{\infty} \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \left(\frac{-y+x}{q} \right)_n d\mu_q(y) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \binom{-y+x}{n} d\mu_q(y) t^n \\ &= \int_{\mathbb{Z}_p} q^{-y} (1 + q\xi t)^{\frac{-y+x}{q}} d\mu_q(y) \\ &= (1 + q\xi t)^{\frac{x}{q}} \frac{1 - q}{q \log q} \frac{\log(1 + q\xi t)}{(1 + q\xi t)^{-\frac{1}{q}} - 1}. \end{aligned} \tag{30}$$

From (29), we get

$$\begin{aligned}
 \widehat{D}_{n,\xi}(x|q) &= \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \left(\frac{-y+x}{q}\right)_n d\mu_q(y) \\
 &= \xi^n q^n \int_{\mathbb{Z}_p} q^{-y} \sum_{l=0}^n \frac{S_1(n,l)}{q^l} (-y+x)^l d\mu_q(y) \\
 &= \sum_{l=0}^n S_1(n,l) (-1)^l \int_{\mathbb{Z}_p} \xi^l q^{-y} (y-x)^l d\mu_q(y) q^{n-l} \xi^{n-l} \quad (31) \\
 &= \sum_{l=0}^n S_1(n,l) (-1)^l B_{l,\xi}(-x|q) q^{n-l} \xi^{n-l} \\
 &= (-1)^n \sum_{l=0}^n |S_1(n,l)| B_{l,\xi}(-x|q) q^{n-l} \xi^{n-l}.
 \end{aligned}$$

It is easy to show $B_{n,\xi}(-x|q) = (-1)^n B_{n,\xi}(x+1|q)$. Thus from (31), we have

$$\begin{aligned}
 \widehat{D}_{n,\xi}(x|q) &= (-1)^n \sum_{l=0}^n |S_1(n,l)| B_{l,\xi}(-x|q) q^{n-l} \xi^{n-l} \\
 &= \sum_{l=0}^n |S_1(n,l)| B_{l,\xi}(x+1|q) (-q)^{n-l} \xi^{n-l}. \quad (32)
 \end{aligned}$$

From (31) and (32), we have

$$B_{n,\xi}(x+1|q) = \sum_{m=0}^n q^{n-m} \xi^{n-m} \widehat{D}_{m,\xi}(x|q) |S_1(n,m). \quad (33)$$

Thus, from (31), we have the following theorem.

Theorem 2.5 For $n \geq 0$, we have

$$\widehat{D}_{n,\xi}(x|q) = (-1)^n \sum_{l=0}^n |S_1(n,l)| B_{l,\xi}(-x|q) q^{n-l} \xi^{n-l}.$$

By replacing t by $\frac{1}{q\xi}(e^{\xi qt}-1)$ in (30), we have

$$\sum_{n=0}^{\infty} \widehat{D}_{n,\xi}(x|q) \frac{1}{\xi^n q^n} \frac{(e^{\xi qt}-1)^n}{n!} = \frac{q-1}{\log q} \frac{-\xi t}{e^{-\xi t}-1} e^{\xi xt} = \sum_{n=0}^{\infty} B_{n,-\xi}(-x|q) \frac{t^n}{n!}. \quad (34)$$

and

$$\begin{aligned}
 \sum_{n=0}^{\infty} \frac{\widehat{D}_{n,\xi}(x|q)}{\xi^n q^n} \frac{1}{n!} (e^{\xi qt}-1)^n &= \sum_{n=0}^{\infty} \frac{\widehat{D}_{n,\xi}(x|q)}{\xi^n q^n} \sum_{m=n}^{\infty} \xi^m q^m S_2(m,n) \frac{t^m}{m!} \\
 &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m \widehat{D}_{n,\xi}(x|q) S_2(m,n) q^{m-n} \xi^{m-n} \right) \frac{t^m}{m!}. \quad (35)
 \end{aligned}$$

By (34) and (35), we obtain the following theorem.

Theorem 2.6 *For $n \geq 0$, we have*

$$B_{n,-\xi}(-x|q) = \sum_{m=0}^n q^{n-m} \xi^{n-m} \widehat{D}_{m,\xi}(x|q) S_2(n, m).$$

Now we consider higher-order twisted modified q -Daehee polynomials of the second kind. Higher-order twisted modified q -Daehee polynomials of the second kind are defined by the multivariate p -adic q -integral on \mathbb{Z}_p :

$$\widehat{D}_{n,\xi}^{(k)}(x|q) = \xi^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (-x_1 - \cdots - x_k + x)_{n,q} d\mu_q(x_1) \cdots d\mu_q(x_k), \tag{36}$$

where $n \in \mathbb{Z}_+$ and $k \in \mathbb{N}$. In the special case, $x = 0$, $\widehat{D}_{n,\xi}^{(k)}(q) = \widehat{D}_{n,\xi}^{(k)}(0|q)$ are called the higher-order twisted modified q -Daehee numbers of the second kind.

From (36), we can derive the generating function of $\widehat{D}_{n,\xi}^{(k)}(x|q)$ as follows:

$$\begin{aligned} & \sum_{n=0}^{\infty} \widehat{D}_{n,\xi}^{(k)}(x|q) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \xi^n q^n \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} \binom{-x_1-\cdots-x_k+x}{n} d\mu_q(x_1) \cdots d\mu_q(x_k) t^n \\ &= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (1 + q\xi t)^{\frac{-x_1-\cdots-x_k+x}{q}} d\mu_q(x_1) \cdots d\mu_q(x_k) \\ &= (1 + q\xi t)^{\frac{x}{q}} \left(\frac{1 - q}{q \log q} \frac{\log(1 + q\xi t)}{(1 + q\xi t)^{\frac{1}{q}} - 1} \right)^k. \end{aligned} \tag{37}$$

By (37)

$$\begin{aligned} \widehat{D}_{n,\xi}^{(k)}(x|q) &= \xi^n q^n \sum_{m=0}^n \frac{S_1(n, m)}{q^m} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (-x_1 - \cdots - x_k + x)^m \\ &\quad \times d\mu_q(x_1) \cdots d\mu_q(x_k) \\ &= \xi^n q^n \sum_{m=0}^n \frac{S_1(n, m)}{(-q)^m} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} q^{-(x_1+\cdots+x_k)} (x_1 + \cdots + x_k + x)^m \\ &\quad \times d\mu_q(x_1) \cdots d\mu_q(x_k) \\ &= \xi^n q^n \sum_{m=0}^n \frac{S_1(n, m)}{q^m} B_m^{(k)}(-x|q) \\ &= \xi^n q^n \sum_{m=0}^n q^{n-m} |S_1(n, m)| B_m^{(k)}(-x|q). \end{aligned} \tag{38}$$

It is easy to show $B_n^{(k)}(-x|q) = (-1)^n B_n^{(k)}(x+k|q)$. Hence, by (38),

Theorem 2.7 For $n \geq 0$ and $k \in \mathbb{N}$, we have

$$\begin{aligned} \widehat{D}_{n,\xi}^{(k)}(x|q) &= \xi^n q^n \sum_{m=0}^n \xi^{n-m} q^{n-m} |S_1(n, m)| B_{m,\xi}^{(k)}(-x|q) \\ &= \xi^n q^n \sum_{m=0}^n (-1)^m \xi^{n-m} q^{n-m} |S_1(n, m)| B_{m,\xi}^{(k)}(x+k|q). \end{aligned}$$

In (37), by replacing t by $\frac{1}{q\xi}(e^{\xi qt} - 1)$, we get

$$\sum_{n=0}^{\infty} \widehat{D}_{n,\xi}^{(k)}(x|q) \frac{(e^{\xi qt} - 1)^n}{\xi^n q^n n!} = e^{\xi t(x+k)} \left(\frac{q-1}{\log q} \frac{\xi t}{e^{\xi t} - 1} \right)^k = \sum_{n=0}^{\infty} B_{n,\xi}^{(k)}(x+k|q) \frac{t^n}{n!}. \tag{39}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} \frac{\widehat{D}_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} \frac{1}{n!} (e^{\xi qt} - 1)^n &= \sum_{n=0}^{\infty} \frac{\widehat{D}_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} \sum_{m=n}^{\infty} \xi^m q^m S_2(m, n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\xi^m q^m \sum_{n=0}^m \frac{\widehat{D}_{n,\xi}^{(k)}(x|q)}{\xi^n q^n} S_2(m, n) \right) \frac{t^m}{m!}. \end{aligned} \tag{40}$$

By (39) and (40), we obtain the following theorem.

Theorem 2.8 For $n \geq 0$ and $k \in \mathbb{N}$, we have

$$B_{n,\xi}^{(k)}(x+k|q) = \sum_{m=0}^n \widehat{D}_{m,\xi}^{(k)}(x) \xi^{n-m} q^{n-m} S_2(n, m).$$

References

- [1] S. Araci, M. Acikgoz, A. Esi, A note on the q -Dedekind-type Daehee-Changhee sums with weight α arising from modified q -Genocchi polynomials with weight α , *J. Assam Acad. Math.* **5** (2012), 47–54.
- [2] A. Bayad, Modular properties of elliptic Bernoulli and Euler functions, *Adv. Stud. Contemp. Math. (Kyungshang)* **20** (2010), no. 3, 389–401.
- [3] D. V. Dolgy, T. Kim, S.-H. Rim, S. H. Lee, Symmetry identities for the generalized higher-order q -Bernoulli polynomials under S_3 arising from p -adic Volkenborn integral on \mathbb{Z}_p , *Proc. Jangjeon Math. Soc.* **17** (2014), no. 4, 645–650.

- [4] D. S. Kim, T. Kim, Daehee numbers and polynomials, *Appl. Math. Sci. (Ruse)* **7** (2013), no. 120, 5969–5976. <http://dx.doi.org/10.12988/ams.2013.39535>
- [5] D. S. Kim, T. Kim, q -Bernoulli polynomials and q -umbral calculus, *Sci. China Math.* **57** (2014), no. 9, 1867–1874. <http://dx.doi.org/10.1007/s11425-014-4821-3>
- [6] D. S. Kim, T. Kim, T. Komatsu, S.-H. Lee, Barnes-type Daehee of the first kind and poly-Cauchy of the first kind mixed-type polynomials, *Adv. Difference Equ.* **2014:140** (2014). <http://dx.doi.org/10.1186/1687-1847-2014-140>
- [7] D. S. Kim, T. Kim, S.-H. Lee, J.-J. Seo, Higher-order Daehee numbers and polynomials, *Int. J. Math. Anal. (Ruse)* **8** (2014), no. 6, 273–283. <http://dx.doi.org/10.12988/ijma.2014.4118>
- [8] D. S. Kim, T. Kim, J. J. Seo, Higher-order Daehee polynomials of the first kind with umbral calculus, *Adv. Stud. Contemp. Math. (Kyungshang)* **24** (2014), no. 1, 5–18.
- [9] T. Kim, q -Volkenborn integration, *Russ. J. Math. Phys.* **9** (2002), no. 3, 288–299.
- [10] T. Kim, q -Bernoulli numbers and polynomials associated with Gaussian binomial coefficients, *Russ. J. Math. Phys.* **15** (2008), no. 1, 51–57. <http://dx.doi.org/10.1134/s1061920808010068>
- [11] T. Kim, S.-H. Lee, T. Mansour, J.-J. Seo, A Note on q -Daehee polynomials and numbers, *Adv. Stud. Contemp. Math.* **24**(2014), no. 2, 155-160.
- [12] J. Kwon, J.-W. Park, S.-S. Pyo, S.-H. Rim, A note on the modified q -Euler polynomials, *JP J. Algebra Number Theory Appl.* **31** (2013), no. 2, 107–117.
- [13] D. Lim, Modified q -Daehee numbers and polynomials, *J. Comput. Anal. Appl.* (2015), (submitted)
- [14] E.-J. Moon, J.-W. Park, S.-H. Rim, A note on the generalized q -Daehee numbers of higher order, *Proc. Jangjeon Math. Soc.* **17** (2014), no. 4, 557–565.
- [15] H. Ozden, I. N. Cangul, Y. Simsek, Remarks on q -Bernoulli numbers associated with Daehee numbers, *Adv. Stud. Contemp. Math. (Kyungshang)* **18** (2009), no. 1, 41–48.

- [16] J.-W. Park, On the twisted Daehee polynomials with q -parameter, *Adv. Difference Equ.* **2014:304** (2014). <http://dx.doi.org/10.1186/1687-1847-2014-304>
- [17] J.-W. Park, S.-H. Rim, J. Kwon, The twisted Daehee numbers and polynomials, *Adv. Difference Equ.* **2014:1** (2014). <http://dx.doi.org/10.1186/1687-1847-2014-1>
- [18] C. S. Ryoo, T. Kim, A new identities on the q -Bernoulli numbers and polynomials, *Adv. Stud. Contemp. Math. (Kyungshang)* **21** (2011), no. 2, 161–169.
- [19] J. J. Seo, S.-H. Rim, T. Kim, S. H. Lee, Sums products of generalized Daehee numbers, *Proc. Jangjeon Math. Soc.* **17** (2014), no. 1, 1–9.
- [20] Y. Simsek, S.-H. Rim, L.-C. Jang, D.-J. Kang, J.-J. Seo, A note on q -Daehee sums, *J. Anal. Comput.* **1** (2005), no. 2, 151–160.
- [21] H.M. Srivastava, T. Kim, Y. Simsek, q -Bernoulli numbers and polynomials associated with multiple q -zeta functions and basic L -series, *Russ. J. Math. Phys.* **12** (2005), no. 2, 241–268.

Received: February 8, 2015; Published: March 7, 2015